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MODEL QUESTIONS

Directions (Q.No.1-5): In the
following questions, two Equations
I and II are given. You have to solve
both the equations and give answer.

a) X<y

b) x>y

C)X2>y

d)x<y

e) Relationship between x and y
cannot be established

1. L2x2+23x+63=0
II. 4y + 19y + 21 =0
2. L.3x2+29x+56=0
I1. 2y? + 15y + 25 =0
3. L3x2+23x+44=0
I1. 3y? + 20y + 33 =0
4. 1. 4x>-29x+45=0
II. 3y — 19y + 28 =0
5. 1L.2x2-13x+21=0
II. 5y2— 22y +21 =0

Directions (Q.No.6-10): Study
the following graph carefully to
answer the questions that follow
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6. What is the respective ratio of the
number of computers manufa-
ctured by Companies A and C
together to the number of
computers sold by Companies A
and C together?

a)4:5 b)14:11 ¢)8:9
d) 7:5 e) None of these

7. What is the difference between
the average number of computers
manufactured by all the compa-
nies together and the average
number of computers sold by all
the companies together?

a) 3500 b) 35000
c) 350000 d) 3500000
¢) None of these

8. The number of computers sold
by Company B are what per cent
of the number of computers
manufactured by Company B?
(rounded off to two digits after
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factured by Company D are what
percent of the number of com-
puters manufactured by Com-
pany E?

a) 125 b) 112.5
c) 85 d) 65.25
e) 75

10. The number of computers manu-
factured by Company B are
approximately, what percent of
the number of computers
manufactured by all the
companies together?

a) 22 b) 18
c) 14 d) 26
e) 32

Directions (Q.No.11-15): Study
the following bar graph carefully
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11. what is the average number of
females from all the organi-
zations together?

a) 3800 b) 35500
c) 3300 d) 3150
¢) None of these
12. The number of males from

13.

14.

15.

domaé | Q=G0 |
dows| 1412019

c) 11
e) 36
What is the difference between
the total number of females and
the total number of males from
all the organizations together?

d) 31

a) 1500 b) 1750

c) 1800 d) 2050

¢) None of these

What is the respective ratio of
number of females from Orga-
nization C to the number of
females from Organization E?

a) 14 : 17 b) 17 : 14
c)14:15 d)15:14

¢) None of these

The total number of males from
Organizations A and B together
are approximately, what percent
of the total number of males from

decimal) and answer the questions given Organization A is approximately, Organizations C, D and E
Number of Computers Manu- a) 83.33 b) 120 below it. what percent of the total number together?
factured and Sold by Various c) 78.83 d) 106.54 Total Number of Males and of males from all the orga- a) 58 b) 75
Companies over the Years ¢) None of these Females in Five Difference Orga- nizations together? c) 69 d) 83
(Number in Lakhs) 9. The number of computers manu- nizations a) 18 b) 28 e) 52
= - cannot be established. From I. 10. b;
\ SOLUTIONS ﬂ:ﬁ 3. d; 2x?—13x+21=0 Required per cent
1. a; From I. = 2x2-Tx—-6x+21=0 15%100
From I, 3x2+23x+44=0 = x(2x-7)-32x-7)=0 (10+15+7.5+22.5+30) 1500
2x%2+23x+ 63 =0 = 3x2+ 12x+ 11x +44 =0 =x-3)2x-7)=0 85

= 2x2+ 14x +9x + 63 =0
=>2XxxX+7)+9x+7)=0
> 2x+9)(x+7)=0
:>x=—90r 7

2
From II,
4y2 + 19y+21 =0
=4y?+ 12y + Ty +21=0
=4y (y+3)+7(y+3)=0
= @y+7H(y+3)=0

—>y=—or—-3
Y 4

Hence, x <y
2. e;

From I,
3x2+29x+56=0
—=3x2+2Ix+8x+56=0
=3xExx+7)+8(x+7)=0
= 3x+8) (x+7)=0
:>x——80r 7

3

From II,

2y2 + 15y +25=0

= 2y? + 10y + 5y +25 =0
=2y(y+5+5(y+5=0
= (y+5 Q2y+5)=0

—vy=-50r —
J 2

Hence,
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=3x(x+4)+11 (x+4)=0
= 3x+11)(x+4)=0
:>X—_—1101‘ 4

3
From II. 3y2 + 20y + 33 =0
= 3y?+ 11y +9y +33=0
=yQ@By+11)+3 By +11)=0
= QBy+11)(y+3)=0
:>y—_—110r 3

3
Hence, x <y

4. e;

From 1.
4x2 —29x +45=0

relationship between x and y | 5. c¢;

:>X=—7 or 3
2

From II.

S5y2 —22y+21=0

= 5y> - 15y -7y +21=0
=5y(y—-3)-7(y-3)=0
=0By-7NFy-3)=0

7
—>y=-— or3
Y 5
Hence, x >y
6. d;

Required ratio
=(10+7.5):(7.5+5.0)
=175:125=7:5

= 4x2 -20x —9x +45=0 7. ¢;
=>4x(x-5)-9x%-5)=0 Required difference
=>@x-9)x-5=0 (10+15+7.5+22.5+30)_

9 5
T X=L0m0 (75+12.5+5+175425)
From II. 5
3y2 - 19y +28=0 = 17-13.5 = 3.5 lakh = 350000
= 3y2 - 12y -7y +28=0 8. a;
= 3y(y-4)-7(y-4)=0 Required percent

_ —4) = 12.5%x100
G =)= = =83.33%
= y=—or4

3 9. e;
Hence, relationship between x and y Required percent
cannot be established _225

x 100 =75%
0

11.

12.

13.

14.

15.

=17.64 ~ 18%
€;
Required average

(2750 +4000 +4250+3750 + 3500 )
5

18250 _ 3650
S
a;
Required percentage
3000x100
(3000 +3750 + 4000 + 2500 + 3250 )

3000x100
16500
=18.18 = 18%
b;
Required difference
= 18250 — 16500

= 1750

b;

Required ratio
4250
=00 =17:14

C;

Required percentage = 2

6750x100
9750

=69.23 = 69%



